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I4=رة �%��=ل و أ��ر-� ا��
< ا� ز��� �&�]�� اB'&�ات ا�&����أآ&3 ا��9 	1
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H - COO - CH (1)

CH - COOCH                               (2)

H - COO - CH - CH - CH           (3)         

CH - CH - COOCH - CH          (4) 

C H - COOCH                            (5)               

  

  :      أآ&3 ا�
,�د:ت ا�
=ا+�p �&�49* اB'&� ا�� �D �� ا�
&"�! ت ا�&���� 	2
  .ا�
���W=ل و أ��ر-� اX-=��W-B 	أ

  .  أول و أ��ر-� ا�
�e1 eX-=��W ا�A�و��ن 	ب
  . أول و أ��ر-� ا�1�W�e 2eX-=���=A ��و��ن 2e 	ج
  . أول و أ��ر-� اe 1eX-=��W-B�=��ن 	د
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Zج آ&%�, 4 m g=�%&آ *� X-=��W-B6,4 �� أ��ر-� ا m' g=ل=��W�
��� . �� ا�pر��اد و�:�� ��g�&ا� �,�

 F%! 19�� ر ا�,]=ي=�''m 12,6ا� g=�&'Bا ��                                                          .  
1	 1!�"&%� �p+ا=
 .                                                أآ&3 ا�
,�د�� ا�
 . أ/�3 ��دود هTا ا�&�49* 	2
���ت ♦,� :         -1 -1 -1

M(O) = 16  g.mol / M(C) = 12 g.mol / M(H) = 1 g.mol  
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1	  >
ا�A=���-� (�� ده4; -&=ا(� +; ا�Z��ة، و ه= d&4- �-����%� ;c c !� �"�!1 ا�\%����ول �* /

X-=���=Aا� .  
���=
  .أآ&3 ا�E9� �\�9 ا�
I4=رة �%A=���-� و ا/�3 آ&%&U ا�

Z54�m ��آ���g�&%� �A ��:ر��اد �=o* آ&%�  	2 = 20 g ��
 .وا+�ة �� ا�9=دا�� ا�A=���-� +; /=(%� و آ
2.1edأآ&3 �,�د�� ا�&"�!1 و '� ا�4=ا� .  
2.2eر��اد؟:�� ��g�&دور ا� ��   
2.3eرور ا�9=د-=م=%�� *AI� 1 +; ��%=ل!�"&
��F%! 19 (�� [%3 آ&%&U �,� .  �,� ا�&A�-� �39 ا�g%�� ا�

'm: ا�&E�"5 ه; = 16,6  g.  
  �� دور آ%=رور ا�9=د-=م؟eأ

  .�3 ��دود ا�&�=ل أ/eب
���ت ♦,� :-1 -1 -1 -1

M(Na) = 23 g.mol / M(O) = 16  g.mol / M(C) = 12 g.mol / M(H) = 1 g.mol  
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